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Mental Ability Test — 2018
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Time : 120 Minutes:
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Instructions to the Candidates
Read the following instructions carefully before
you answer the question:

1. Answer are to be given on a SEPARATE
ANSWER SHEET.

2. Please write your eleven digits Roll Number
very clearly on the Test-booklet and Answer
Sheet as given in your admission card.

3. Please note and follow the instructions given
on the answer sheet for writing the answers.

4. Darken the CIRCLE with pen for answering the
question in the appropriate space against the
number corresponding to the question you
are answering.

5. There are 100 question in the test.

6. Since all questions are compulsory, do not try
read the whole question paper before
beginning to answer it.

7. If you do not know the answer to any
question, do not spend much time on it and
pass on to the next one. Time permitting, you
can come back to the question, which you
have left in the first instance and try them
again.

8. Since the time allotted for this question paper
is very limited you should make the best use
of it by not spending too much time on any
one question.

9. Rough work can be done anywhere in the
booklet but not on the Answer sheet/loose
paper.

10. Every correct answer will be awarded one
mark.

11. Please return the answer sheet to the
invigilator after the test.
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7. AR s R g & I A W A 9 W g
TG 7 MY IR I I W 9 W9) 4 7e A a9
fiet @ o vt A S vER SR R w3 W
ATE FEF IJTR IR A F T A

8. wF |y = 3 foy ffRa wwa g dfaw 2,
wfaw [WE FFIW IR v 3R FR v g
W TEA TG 7 YN

9. T wHW W Yaw ¥ wd | fFw o g B, fay
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Please turn over the page and start your work.
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In a certain code, MENTION is written a
LNEITNO. How is PATTERN Written in that

? =
code? (F\TL\\; 1\'
1. APTTREM
2. PTAETNR

37 OTAETNR

4. OTAETRN

(Y]

In a certain code language, the word NUMBER
is written ‘SECNVO’. How will the word
‘SECOND’ be written in that language?

1. EPOEGH

2. EOPDFT
OPETFD

4. TEFDPOE

\f LM
If PAINT is code as 74128 and EXCEL is coded

as 93596, then would you code ACCEPT?
455978 49

2. 547978

3. 554978

4. 735961

In a certain code, if SCHOOL is coded as
123445, TEAM as 6078, how is HOTEL coded in
that code?

1. 34785
2. 60734
3. 43605

/ 34605

Which number wou.ilg replace question mark in
the series 7\,}&/19, ?, 39
1. 29 STH NN

P

3. 26
4. 24

oy
~ 4o

o

= ‘

- Vo

|
Which fraction comes next in the sequence “\

1/2,3/4,5/8, 7/6?

\ 5 3 A
1. 9/32 S T I 16
2. 10/17
< 11/34 : , o
4. 12/35 e

@

2.

3.

4.

& faey ®Ie § MENTION & LNEITNO forzr
T | S BTS ¥ PATTERN &1 f6d yaR
forar see?
APTTREM
PTAETNR
OTAETNR
OTAETRN

R0 IOl e

Th 9w @l Wir ¥ W= NUMBER &Y
‘SECNVO’ for@r wirar 21 S 9o # I
‘SECOND’ fhg g forar Smom?

1. EPOEGH
2. EOPDFT
3. OPETFD
4. TEFDPOE

I3 PAINT Y 74128 3R EXCEL &I fomar WU
T ACCEPT &7 b YR forar o

1. 455978
2. 547978
3. 554978
4. 735961

% A9y dre § I SCHOOL BT 123445 3R
TEAM &7 6078 forar oIy o S P # =
P DY for@r e |

1. 34785
2. 60734
3. 43605
4. 34605

& TS HGAT 7, 12, 19, ? 39 N yeHATIH fARA
H YE W DA & 3TTA?

29

28

26

24

>N =

feu g gHR 1/2, 3/4,5/8,7/6 ____ H
AT 4= P |7 BT

1.9/32

2.10/17

3.11/34

4.12/35



10.

11.

Eind__tﬂhgmmissing number in the given series:
9,11, 20, 31, 82.
1. 4
2. 60
51
4. 71

(Q. 8-10) Direction: - Study the following
g_umber serie;; to answer the given question.
%
2,6,7,5,4,3,7,4,89,4,8,9,4,3,2,54,7,9,8,6,8,7,
\f1,2,5,3,7,6,8,9,\??6.

How many 7s are there in the series which are
immediately precede by an even number and
immediately followed by an odd number?

1. 2

2.
I

4, 5

Which of the following will not be number of

the .::f: L $ ?g 6:3' 19%.5 AT
2. 512.
3. 729
4. 1000

How many such number are there in the series
which are immediately followed by its
multiple?

1. 3

2. 4

g

4. 1

170y
Which term comes next in the series? YEB,

w%&gﬁﬂmw"
ave o AN

1. Q6L (W)
2. TOL @
3 Q0L

4. QNL

10.

11.

& TE sEar § auRerd sid B |T BN
9,11,20,31, oo, 82.

1. 41

2. 60

3. 51

4. 71

ffder (e 8 |/ 10): frafafea s
fEar 1 qeaaT x4 gU faw T g
$T SN &l

2,6,7,5,4,3,7,4,8,9,4,8,9,4,3,2,5,4,7,9,8,6,8,7,
2,5,3,7,6,8,9,3,6.

& g ger | fba 7 W & e gRea usal
TE g SR QR 918 U v e 82

1. 2
2. 4
3. 3
4 5

ffefoReg & 9 o9 A1 3%

1,827,64125 ... @ f&&dl &l 8F17
1. 256
2. 512
3. 729
4. 1000

& TS gEen § W fhaw 3w 8, e qee
T IHD 3T O 27

1. 3
4
5

Lol S
—_—



12.

13.

14,

15.

16.

1. orth—We§?'
] North—East@———T

Pointing towards a person in a photograph,
Anjali said, “He is the only son of the father of
my sister’s brother”. How is the person related
to Anjali?

1. Mother

2. Father

3. Maternal Uncle

/Brother

Pointing out to a lady, Mohit said, “she is the
doughter of the woman who is the mother of
the husband of my mother”. Who is th&laqdﬁy to
Mohit?

)./Aunt
2. Grand Daughter
3. Daughter
4. Sister

A and B are brother C and D are sister. A’s son
is D’s brother. How is B related to C?

1. Father

2. Brother

3. grandfather l b
}./Uncle ['\4

X S-A' N
Deepak is brother of Ravi. Rekha is sister 3}

12.

13.

14.

—

> ls

Atul .Ravi is son of Rekha. How is De?@akk\hm I

related to Rekha?

/Son

2. Brother

L

)fep.[?u R

%Nephew

4. Father

I am facing south. | turn right and walk 20
metre. Then | turn right again and walk 10
metre. Then | turn left and walk 10 metre and
then turning right walk 20 metre. Then | turn
right again and walk 60 metre. In which
direction am | frém the starting point? 47—

3. North >l
4. West

Raut

16.

TE 3 ¥ e AfR B R IR
Ifr 7 HET 98 WA 69 B WIS B fuer
sHlar g3 2 | 98 aAafdm i & fhw
TfRE 27

44

]

HWN -

AW N

&

AR B WIS 2| CIR B &1 8| | &1 g3 D
&S B | B & GdY CH fFY gER 27
faar

wTg

3TaT

P (are)

AU, M BT WTE R | @, AgA B T8 B

fa, ¥ 1 gF B Qe v ¥ PE yaR
Tt 8?

S WS 2

1. 93
2. g
3. ¥l
4. foar

¥ cfayor faenm # 2w ver €) H < ger 3R 20
R ToAT| $9 a8 H I HqIT AR 10 MR
Tam| fix & It ge1 iR 10 A Fem IR
R S gsar 20 AleR =T | §H9D A1 H T
g1 3R 60 Hex =all | gRfVS fIg 4 4
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Directions (17-19): Study the following information
carefully and answer the questions given below:

‘P$Q’ means ‘P is father of Q'.
‘P+Q’ means ‘P is son of Q.
‘P@Q’ means ‘P is sister of Q.
‘P%Q’ means ‘P is wife of Q.

‘P&Q’ means ‘P is husband of Q.

17. Intheexpression ‘M+KST@N’ how is M related
to N?

1. Sister

2. Cousin
yBrother

4. Paternal Uncle

18. Which of the following expression represents
the relation V is mother of D?

1. V%Q@RS$D
2. D+T@I$V
%%Q$R@D
4. V@F$D%M

19. In the expression ‘E+H@K$B’ how is B related

to E? L‘.r Vj X
1. Brother l l
2. Sister X

£ B

4. Can’t be determined

20. Rajeev is facing west. He turns 45 degree in the
clockwise direction and then another 180
degree in the same direction and then 270
degree in the anticlockwise direction. Find
which direction he is facing now?

1. South

2. est .
. South-West .

4. South-East

feenfader (17—19): & ¥ IFHN @ eAFgd®
gfer 3R fa=faftaa g &1 9ax dfeR:

P$Q FT 3f & PfUaT 8 Q &r

P+Q BT AF 2 P YT T Q B

P@Q A § P IEF & Q BI?
P%Q HT 31f & P U B Q @Y

P&Q F A & P ufd & Q &7

17. A U EFd  'M+KST@N' ¥ MN I g

GIRIVACIEI

18. &9 9T &oid quiar g f& v, D &Y Amar 87
V%Q@R$D

D+T@JSV

V%Q$R@D

V@F$D%M

Pwon e

19. AWD ‘E+H@KSB’ H B,E ¥ Y Tf¥T &°

1. g
2. &
3. o
4. 9T e AT S g

20. WWW#‘&@W%IH@W
feyomad (B @ g3A D gEA o1 e #)
g@rsﬁ'\fﬁﬂmmmﬁﬁwﬁg@@hﬁﬂ
270° 1T (ES 3 g B o Redra
feem #) g1 | g HRA A 3@ g8 fHg e

# 3@ @ B
gfeyor

qfegR
Zigor—gf¥=s
<faror—gd

A w2



21. Rohit walks 10 km towards North. From there
he walks 6 Km towards South. Then, he walks
3 Km towards east. How far and in which
direction is he with reference to his starting
point?
1. 3 Km South
2. 4 Km East
3. 5 Km South

7 5Km North-East

Directions (22-25) Study the information and
answer the questions given:

Seven people -P, Q, R, S, T, U and V are sitting in a
circle facing the centre. P is between T and S. U is
between Q and V. Qis 2™ to the right of T.
‘W

22. Vissitting

1. BetweenPand U

2. tothe immediate left of U

)./ 2" to the left of P
4. 4Mtotheleftof T

23.  Who is sitting in the immediate left of R?
T

BowoN

S
u
Vv

24. Which pair amongst the following are not
immediate neighbours?

1. TR
2. SP
3. VU

/4/50

25. What is the position of S with respect to U?
/I./ 2" to the right
2. 3"to the left
3. Immediate left
4. Immediate right

- 2
\

21. f2d S P! IR 10Km TAT| TEI | T8
6 Km TIEOT &Y IR o1 | 9P q1% 98 3 Km
gd @ AR FAT| TN ARG Rafq | a8
fhat ¥ iR frg fem # 27
1. 3 Km <fayor
2. 4Km11?5
3. 5 Km &1
4. 5 Km STR—d

feenfade (7—10): @ ¥ I B WATES
gfev sk fa=fafaa gt &1 S afwa:
|rd dT- P, QR S, TR U ga ¥ &5 3
IR e fog v ga 4 3 1 P, T IRS B
fadiv,aqaiRva dadiq, T g R
GO W WX B |

2. Vdarg

1. PR U @ 41
U@ P 98 iR
P& T3 IR T WIH W
TH € 3R AY WWH W)

= @ N

23. R® fPHexer 9 3R & e 27
1.

T
S
u
\

bl S

24 T Q@ B G AreT Feey to T8 2
TR
SP
VU
sQ

25. U® gmers o Rafy @ 87
1. I ¥ EW
2. 9N ¥ aRN
3. A®ery qrt
4. fAPpexer Tt



26. Two positions of dice are shown below. How
many points will be on the top when 2 points
are at the bottom?

* o L ]
3 °
. .
* 0 0 . e o o .
e o o * o

1. 6
A1
3. 4

5

AN o
Directions (27-30) Study the information and
answer the questions given:

Six dice with upper faces erased are as shows. The
sum of the numbers of dots on the opposite face of
each diceis 7.

v/ L v o 4 0
~PEPEP PP
T G ah i ™ W WD
X %) ' :
l> =}
)

27. If even numbered (ii, iv, vi) dice have even
number of dots on their top faces, then what
would be the total number of dots on the top
faces of their dice?

1. /12
2./ 14
3.. 24

}./18

28. If the odd numbered dice have even number of
dots on their top faces, then what would be
the total number of dots on the top faces of

their dice?
8

2. 10
12

14

26. U # q Rfodl &1 T Ramr mar 2
3P

* o s * ..
ooo.o * o o .
* o o * o

1. 6

2. 1

3. 4

4. 5

feenfader (27—-30): & ¥ SFEN F eaFgdS
gfer iy fa=fafRad wet @1 Sav -

B% UGl @ SN Gdd el s <ufv 717 2|
Ad TN @& faudld st @ BT BT oS
721

. . o 0 . .
S so fo oo [T+ ) o ool [ 5T,
LR L) ) »)
. . o o
¢ s C . o |® * e .
. . ° . . ° .

(M (1n) (111) (V) (V) VD

27, afe |8 |F=(ii,iv,vi) I TR ® FT HAD!
W fdg e wH G 8 ) S8 MY worat
wR fdgall &1 e @ B?

1. 12

2. 14

3. 24

4. 18

28. afe fAwm wan gl Tl B ST BB W
fig v 99 ¥ & d 99 Y wda W)

figat ®1 Srs Fm BTY
1. 8
2. 10
3. 12
4. 14
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29. Ifdice (1), (I1) and (lIl) have even number of dots
on their bottom faces and the dice (IV) (V) and
(V1) have odd number of dots on their ir top. faces,
then what would be the difference in the total
number of top faces between these two sets?

1. 2
2. 4

376

4. 0

30. If the even numbers of dice have odd number
of dots on their top faces and odd numbered
dice have even odetS‘on their bottom faces,
then what would be the total number of dots
on their top faces?

1. 14
2. 18
)AG
4. 12

Directions (31-32) In each question below are given
two statements followed by two conclusions
numbered | and Il. You have to take the given two
statements to be true even if they seem to be at
variance from commonly known facts. Read the
conclusion and then decide which of the given
conclusions logically follows from the two given
statements, disregarding commonly known facts.

31. Statements: All bags are books. All pencils are
books.

Conclusions:

some pencils are bags.

/H./ No pencil is bag.

1. Only conclusion | follows

2. Only conclusion Il follows
Either | or Il follows

4. Neither | nor Il follows

Qﬁ/j N
'\ 2 !

29.

30. I W F@W (ILIV,VI) ad T B
P R g vH v Fem & SR
|=(, 111, V) a1 I @ Fad Gadl ) g

T 9 G@T 8 df S8 Y HAD! R fdgai

BT SIS FAT BAIT?
1. 14
2. 18
3. 16
4. 12

fenfadyr (31-32) 9@® ¥ A QA dYA AR
Q1 fspef 19 0 & e Ry g | Iud 39
19 ST B A HHAT 2,918 4 9Hr S
T | 4= @ q&t 9 8| 9 ard Ay
& ene A @d gu sl @ afed Ik
qrfe® JIMER R® Fd HIRA ) Ry 77 HoEr
¥ o a1 frad Aeear 2

3. &Y T A7 frad & | W ifye
fpard &
fased:
. BB U 9T § |
I, ®rg Ryt a7 T & |

Haa Ay |
Baa sy 1l
arar A
Farraan

-

P wnN



32. Statements: All mangoes are golden in colour.
No golden-coloured things are cheap.

Conclusions:
A 1. All mangoes are cheap.
Il Golden-coloured mangoes are not cheap.
1. Only conclusion | follows
- Only conclusion Il follows
3. Eitherlor Il follows
4. Neither | nor Il follows

Direction (33-38): There is a question mark in empty
cell. Find out the correct alternative?

33.

r/f‘

[\ - AN
JAVANERRWAVAN

34.

32. & Tft A B T H FIR T B IR
71 P A TN S B
frep:
Loft o v €
Il GAeR T B AW G qG 8 |
1. ®ad fA=py |
2. ®ad fAspd ol
3.oArariani
4 FAT1FEN

e (33—38): @i A A v v fig 2
Td e Qe ?

b A

JAVA

1. 7
2. 8
3. 3
4 9
34.

&) (»)
o)
1 2 (4]
2 4 ¢
3 3
4 5



35.

23

1

2. 12
3. 60
4,732

36.

37.

1. 12

2. 18
S

4. 10

oy

38. Find the missing charater (?) in the following

diagram.

1. 4

2. 305
343

4. 729

35.

36.

23
12
60
32

b= - A

61

37.

38.

128
71
127

89

NP

15| 8

12
18
9

10

ol

f e v R & @re wmH § sfa 3w

Ty B |

oo s
®
w




39. Find the missing character (?) in the following 39.
diagram.
v ¥
Vy 1
¢
? 2
25 V
}./ 1 5
2. 2
3. 3
4, 4
40. Find the missing character in the following (?) 40.
figure such that it follows rule -
36 ! 827 &')/K)
2Ot
4. 6
41. Find the missing character (?) in the following 41,
figure such that it follows rule
S
42. Find the missing character (?) in the foIIowing 42,
flgure such that it foIIows rule
}\"L
8
1. 48
2. 72
3. 35

Z;./uo

10

i Ry o R § w@reh e (?) ® S
3fp U BN |

-—
—_

> wvn

2
3
4

7 fRu v form # w@reh A # IfAd 3d
g B e e fFam &1 aeq @)

Y

12

SR SIS
©

6
#’rﬁﬁﬁmﬁaﬁ@mwp)ﬁeﬁa
36 g B 9 & fram &1 9 8@

1
2
3. 32
4. 320

a0 Ry v o # @l w=E (?) § St
e g B 9 & fam &1 aeE 8@

15 2 9 7 13 16

80 65 ?

72
35
120

> w N
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Direction (Ques. 43-50) There is a series provided t fide (9T 9&AT 43-50) : AUDI [H HE@Al
you where a gap is left. Analyze the series and fi @ Y 2 o ve R e wier 1 2
the gap Hgagar o1 fazdvor I i Re @ w7
43. 5828162, 12870 . .,y ) — Y7 43 5828162,__ 12870
}1-/1733 D e ) 1. 1738
: £3l8 N 2. 2318
3. 1288 s fong
4. 2224 i oo
44. abbgbaa bapbabgaba 44. abb_baa_a_bab_aba
/abba 1. abba
2. abab 2. abab
3. ccac 3. ccac
4. aabb 4. aabb
45, ‘?99, 363, _,D15,B3 ‘ 45. 199, He3, _, D15, B3
1 E23 v 1. E23
l/§35 2. F35
3. F31 3. F31
4. D33 v % 4. D33
46. 0.1503,  ,12,2.4 46. 0.15,03, _ ,1.2,2.4
1. 48 o 1. 438
2. 0.006 2. 0.006
3706 3. 06
4. 09 4. 09
47, 238793 17 47. 2357,11, 17
1. 12 1. 12
¥ 13 2. 13
3. 14 3. 14
4. 15 4, 15
48. 8,43,11,41, 39,17 48. 8,43,11,41, 39,17
1. 43 1. 43
2. 37 2. 37
14 3. 14
4, 19 4. 19
49. 6,11,21,36,56, 49. 6,11,21,36,56,
1. 42 1. 42
2. 51 2. 51
381 3. 81
4. 91 4 91

11



50. 210,209, 213,186, 202,
77
2. 177
3. 138
4. 200 9
Direction (Ques. 51-52) There is a series provided to

you where one of the entry is wrong. Analyze the
series and find the wrong entry

51. 2,12,38,80,150,252,392

1.7 392

2. 2
38

4. 150

NN
WA or 140

52 0,6,24,60,95,210, 336
1.5 210_
2. 336
3. 120
95

Directions (Ques. 53-57): In following questions in
certain code language if ‘+' means ‘), ‘-‘means ‘+,
‘" means ‘+’ and ‘¢’ means ‘-, then answer the
following questions.

53. 16+2-3:4=?

31
2. 26
3. 15
4. None of these
54, 9+3+18x3+4=?
1. 30
33
3. 13
4. 0
28+36-49x7+2="
1. 12
2. 10
3. 8

46

55.

12

50. 210,209, 213,186,202, _
& 77

2. 177

3. 138

4. 200

Al (Uea §@ 51-52) : ATUPH TS @A
T 2 e e ufafe weq 2| gaar @
fave iR R wTaa wfafe sta @ |

51. 2,12,38,80,150,252,392
1. 392

2. 2
3. 38
4. 150

52. 0,6, 24, 60, 95, 210, 336
1. 210

2. 336
3. 120
4. 95

frder (g @@ 53—57) - fAEfafaa g &
ars AT #§ afe ‘4 &1 aef @ W, - BT ek
B, % BT E Y AR, BT oaef R
o frafaRaa e &1 Sar 9

53. 16+2-3+4=?
31
26
15

None of these

Sl LR

54. 9+3+18x3+4=?
1. 30

2. 3

3. 13

4. 0
28+36-49x7+2="?
1. 12

10

55.

PN



56. 171x57+279x93

1. 250

2. 253

3. 252
0

57. 8+6-9x12+4

s
7

&

13

—

58. When 12+10=1205, 11+8=885, 16+15 = ? (;,;’
<~ 2405

2. 105

3. 1025

4. 130

Direction (Ques. 59-60) In these questions, find the
missing number in the number pattet%.
59. 268 [29] 210 ’

218 [?] 166

1. 42

2. 25

226

4. 29

”

&
b
L0

g

60.

21 |
25 5

NEUL|-w

4. 20

Direction (Ques. 61-63) In these questions select the
related number from the given options.

61. 9:80::100:? '

1. 901
2. 1009
3

13

56. 171x57:279x93
1. 250
2. 253
3. 252
4. 0
8+6-9x12+4
1. 5
2. 7
9

3.
4. 13

57.

When 12+10=1205, 11+8=885, 16+15 ?
2405

105

1025

130

SRS

fide (v S@&r 59-60) @ fay WU gwAY #
e srquRera sid &1 var @y |

59. 268 [29] 210
218 [?] 166
1. 42
2. 25
3. 26 :
4. 29
60.
3121
6 25
12 ?
1. 24
2. 19
3. 22
4. 20

fader (v @& 61-63) : 39 I ¥ Wafd
& &1 994 Qv U fasaat 4 & |

61. 9:80:100:°7
1. 901
2. 1009
3. 9889
4. 9999



62. . 1312307

N\
.0
&

Direction (Ques. 64-68) Study the following
information carefully and answer the questions
that follow:-

Madhu and Shobha are good in Dramatics and
Computer science. Anjali and Madhu are good in
Computer Science and Physics. Anjali, Poonam and
Nisha are good in Physics and History. Nisha and
Anjali are good in Physics and Mathematics.
Poonam and Shobha are good in History and
Dramatics.

64. Who is good in Computer Science, History and

62. :3::23:7?
25
28
46

29

P wonEN

63. 2:12:8:?
1. 18

2. 128

3. 396

4. 576

fder (gva G&T 64—68) : Ffafad seer
$T AAYES JAT HY AR AR Y yea1 &1
IR ¢ —

g IR wET g AR HYeR g § a8
2 sivfa sk Ay g faga 3k wifas
fagm@ & a8 | iwfa w AR fen wifae
fasma 3R sfasra o s=8 & fem R IiSfa
#ifas fag= sk 1@ ¥ =8 21 AW AR
AT gfaer R g A w8 2

64. HIYEX 3B AR I F P W B |

ics?

Drama"(lc‘s. L affa

1. Anjali 2. Y

2. Madhu .
_37 shobha o fren

4. Nisha

65. Who is good in Physics, Dramatics and 65. ifdas fasm, ST 3R DY s & &4

Computer Science? W 7 |

1. Shobha 1. 9T

2. Poonam 2. 914

7 Madhu 3. "y

4. Anjali 4. fem

66. Who are good in Physics, History and 66. fa=m=, sfaera 3k gmT # B9 3T 2|

Dramatics? 1. J99
/Poonam 2 9T

2. Shobha 3. Wy

4. Anjali o _

Medhu  Sheleha.  Anjalt  Rooveme  Wigha
® P ™M
@ D,CP  DCh CFRM  Buy BH M
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67.

68.

Who is good in History, Physics, Computer
Science and Mathematias?

1. Poonam

2. Nisha

3. Madhu
Anjali

Who is good in Physics, History, Mathematics
but not in Computer Science?

1. Madhu
2. Poonam

M]isha

4. Anjali

Direction (Ques. 69-71) in these question four
optaion are given in each question out of which only
one is correctly spelt. Find the correctly spelt word.

69.

70.

i o

72.

1. Apparrel

2. Aparell

3. Aparel
Apparel

1. Commissioner
2. Commissionar
3. Comissioner

}/Commissionor

1. iqute
Etiquette

3. Ettiquet

4. Ettiquette

Which is the following is the same as wrestling,
Karate, Boxing?

1. Swimming
2. Polo
3. Ploevault

%udo

¥iadnu Qe boha
bDC 1? DC W

67.

68.

fader (yea 9T 69-71) : fRw 1w

fddey fav 1y @ 39 ¥ @ dad s fAwey
qd-l ¥al faseq @il |

69.

70.

71.

W N

g1 H 9 DA FEI BT AR TID qToil

P BN e

& e

Apparrel
Aparell
Aparel
Apparel

Commissioner
Commissionar
Comissioner

Commissionor

Etigute
Etiquette
Ettiquet
Ettiquette

ST & R

1.



73.  Which of the following is the same as Canoe,
Raft, Wangan?
Dinghy
2. Shallot
3. Canopy
4. Submarine

Directions (Ques. 74-78) The numbered cells in the
square below have been filled with letters, the
columns and the rows are identified by the numbers
0 to 9. A letter in a cell is represented first by its
column number and then by its row number e.g. G
in column 3 and row 1 is represented by 31. In each
of the following questions a word has been given
which is represented by one of the four correct
alternatives. '

pd

v(ZN|D|(P|m|H|T|IZ~|O

m—|Ounn0l0(<|x|>|r|~

O|N|<|C|r|®m>|S|0|w|~

o|p|<m|«Z|—|—-||o|w
mMMmTANIXMmMC|(P(-H|x|&

Cl|PIO|x|m|O|C|X|<|Z|W0

8
A
N
C
J
W
X
D
I
I
C

wioiNlo|nisalwin|k| o
plclx|<|P|C|Q|wm|—|[xT|o
olm|=<|S|p|=x|[Z|m|lO|wv|w
OlnOo|lr|dA|m||—|C|m|w

~
e

IND
\ 01,61,73,36
2. 08,61,55,44
_37734,33,50,17
4. 73,33,61,17

75. JAIL
1. 32,05, 25,44
. 32,05, 87,96
3. 35,23,26,33
4, 83,65,25,44

76. BLOT
1. 20,10,71,22
2. 24,10, 26,48
3. 34,35,63,03

/ 62, 25,57, 95

g8 § BIF 91 Ders, Y, 9T OHET 2|

Eadl

sify
drere
PTG

O (INOD B IWINIE= O

oZ(N|O > TH|lxT|Z|=|O

m—lg|lv|olo|<|=|>||~
ON|<|C|m|® > s|O|®N

gpoI<mM=(Z|7(T||o|w

mim N[ XmiCc|lP|(HA|x|H&

Cl|P|IO|R|Z|O|C|X|<|[2|W

plciT|<|>»|C|lO|m|—|xT|O

o|m|<|g|»|x|z|m|o|v |~

n——cxg'—nz:boo

alwlo|lr|H|l=|m|—|c|m|w

~
e

75.

76.

16

MIND

1.
2.
3.
4

JAIL

BowoN

01,61,73,36
08, 61, 55, 44
34,33, 50, 17
#35:33,60; 47

32,05, 25,44
32,05, 87,96
35, 23, 26, 33
83,65, 25,44

BLOT

1.

2.
3.
4

20,10, 71, 22
24,10, 26,48
34,35, 63,03
62, 25,57, 95




77. JOKE 77. JOKE
)Az, 14, 56, 44 1. 32,14,56,44

2. 35,14,37,78 2. 35,14,37,78
3. 83,63,40,59 3. 83,63,40,59
4, 83,71, 25,36 4. 83,71, 25,36
78. OMIT 78. OMIT
14,34, 88,95 1. 14,34,88,95
4\/" 2. 63,44,88,03 2. 63,44, 88,03
« 3. 79,09, 61,41 3. 79,09, 61,41
4. 97,34,62,95 4. 97,34,62,95
Directions: (Ques. 79-83) Study each of the fdwr (ge wenm 79-83) : fFrafaRea
following tables and choose the alternative which mﬂ’f qa Wﬁ?ﬁ &1 AT PR AR Adey
can best replace the sign of interrogation (?) 9+ ol qpaw & "ad (?) & wdlkq wu 9
\ ufereernfia &% 9&ar 2
= a7 ’L/,"J/O 79.
? ¥
il R T T el ¢ 3|8 [10[2]? [1
6| :}j2]20]0 6 (56 |9 (2|20 1|0
1. 0
2. 3 ke €
;/s 22
4‘ 4 305
’ 4, 7
80. 80.
sl 3 12 110142 12 [3 [2 [10]12
2512301513 2|5 [12]10] 1613
A EME 10 24 102 [1 |? |10]24
1.5 1 s
;}1 2. 11
-13 3. 13
4.8 4 8
81.
81.
963 2 844
464 | ? | 903 2 < |84
464 ? 903
1. 1
2 1. 1
3 2. 2
4 2 3. 3
4, 4

17



82.

1 2 3 e
i |7 5 <
120 [45 |z
1. 19
2. 17
3 16
4. 15

83. Find the value of X in the following figure.

[15] (4]
ST 2
| 27 2

36 8

32 [ X

189

22 |11

123
3
2. 4
/3./8
4. 12

Directions: (Ques. 84-86) In each of the following
questions four words have been given each of
which three are alike in some manner and the
fourth one is different. Choose out the odd one.
84,

1. Apple

2. Mango

7 Watermelon

4, Guava

85.
1. Microscope
2. Telescope
3.  Periscope
. Stethoscope

18

82.

1 2 3
11 7 5
120 |45 ?

1. 19

2. 17

3. 16

4. 15

83. Find the value of X in the following figure.

5] 4]
33 2
27 2
36 8
32 | X
18 |9
22 | 11
12 | 3
1. 3
2. 4
3.
4. 12

fider (wea W s4—s6) - Fr=ifeiRaa ¥ @
Udd U ¥ 9K ves fer v & R 9 e
= 9= vy @ guE & 3w dten faww €
fass &1 971

84.

K]

3TH

g
AW

—_

e

85.

Microscope
Telescope
Periscope

2 WO e

Stethoscope



86.
1. Commander
2~ Commodore
3. Briga'dier
4. Admiral

Direction: (Ques. 87 — 90) In each of the following
questions series of numbers / alphabets is given
with term/terms missing. Choose the correct
alternative that will continue the same pattern and
fill in the blank spaces AT
49 39 U

5 ,%,( ........... ), % = p
17

1. 40

87.

w
N
n

F=y
n
(75

3 4 5
88. —, =, ——=,—,l.ereeerne
E (—

89. 0,2,3,5,8,10, 15,17, 24, 26, (c........)
) :£:10,15,17, 24,26
y’ 35 7 kX g
2. 32
3. 30
4. 28

86.

1. AR

2. FHAER

3. faifemx

4. USfRA
frder (e & 87—90) - Fr=falRaa wet &
W& /auiAare & el & Ao &) w2
o $9 ug Raw x@ ¢ €| Sfaa fder &1
39 PR T4 N & Reg g w94 @ «<

Aoft &1 ded (Ureu) FRaR @ |

4 9 39
7. il i
9 20 86
Jl
1. 40
19
7. 42
20
3. 45
32
4. 53
B8 et
5 5 545 25
6
1_ T B
545
6
2. ——
255
;3 6
125
s L
25
89. 0,2,3,5,8,10, 15,17, 24, 26, (iiioiennd)
1. 35
2. 32
3. 30
4, 28

19



90.

91.

92.

93.

‘i

‘1/

P3C, RSFTSIVIZL( .............. )
1. Y17 0° ey 0
2. X17 M

X17 O
4. X16 O

A man is facing north-west. He turns 90° in the
clockwise direction and then 135° in the
anticlockwise direction. Which direct is he
facing now

1. East
West

3. North

4. South

Which one of the following statement is
correct with regard to the given figure

1. AandB are in all the three shapes
2. E, A, B, Careinall the three shapes
3. F,C,D,B,Aareinall the three shapes

/Only B is in all the three shapes

Arrange the following given names in the
appropriate order based on the telephone
directory (telephone directory) and select the
correct order.

1. Avdesh

2. Avadhesh
3. Awadesh

4. Awadhesh

)\
N
d\

1. 2341

2,1,34
3. 1,234
4. 2,143

20

90.

91.

92.

93.

P3C,R5F, T8 1, V12 L, ( ceceruennen. )
Y170
X17M
X170
X160

WD

:
2

9 Ry U form @ R ) fAEfaRad d @
PHEYT HIT I 2 |

1. A3 B dF} arpRY A Rerg &
E, A B, C O eI & Rya &
F, C,D, B, AN 3Rl # Rerd &
Pad B dFT R # Rerd

>~ N

frafaRea 3 1o a9t 1 faem sRE)
(AT FRRIE) @ MR R W aret 3
®H H araRerd &R AR &l HH BT TG BN |

Avdesh
Avadhesh
Awadesh
Awadhesh

L o

2,3,4,1
2,1,3,4
1,2,3,4
2,1,4,3

SRS



Directions: (Ques. 94 to 95) are based on the
following alphabet series

AacnsifeguKLMQOPQRiru'ywxvz
¥ \

94. Which letter is exactly midway between H and
S in the given alphabet series

1. L
2. M
3. N

%ﬂo such letter

95. Which letter is midway between 22" letter
from the left and 21 letter from the right

1 L
2. M
}./N
4. 0

96. How many squares does the given figure have?

1. 6
3, .3
/9

4. 10

Directions (Ques. 97 : In the following questions
there are two problem figures followed by the
answer figures labelled as A,B,C and D. The two
problem  figures have some common
characteristics/features. Select the answer figure
which has the same commonality.

97.

B W N
@ > O

21

frder (e dwear 94—95) - f=ferfaa aufwaren
gEd ) JERd
ABCDEFGHIJKLMNOPQRSTUVWXYZ

94. DI AT IER <F TS guHTer Ao # S H iR
S & ey Reg 2

1. L
2 M
3 N
4. U PIE HER TE 2|

95. I T MR, 9 F 22 § IR IR A J
219 3R & 7=y Rerd @

1. L
2. M
3. N
4. 0
96. f&3r v Ry & fpaw af €7

W N



98. Choose the correct mirror-image of the figure
(x) from the amongst the four alternatives
A,B,Cand D

NG
~AAS

How many cubes are there in the following figure?

=

/

A~ ow
NN
S

100. You are given a figure (x) followed by four
figures 1,2,3 and 4 such that (x) is embedded
in one of them. Trace out the correct
alternative

22

98.

99.

100.

IR fadmed 1,2,3 3R 4 # 9§ anpfa (X) & 98
OBl A

AV

X

AVVAVEAVE

=
w
]
o

AW N -
B oW N -

i Ry v R # faw w9 &7

10

g W e
O 0N ®>» >
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A cell is having two boundaries, the outer
being cell wall and the inner being plasma
membrane. The inherent property of this pair
moving from outside to inside is:

/])( Semi-permeable and Permeable

2; mi- permeable and Semi-permeable
/:rmeable and Semi-permeable

4. Permeable and Permeable

The process of osmosis is the movement
across the cell membrane of:

1. Salts from a hypotonic solution to
hypertonic solution

2. Salts from a hypertonic solution to
hypotonic solution

Water from a hypotonic solution to
“ hypertonic solution

4. Water from a hypertonic solution to
hypotonic solution

A poorly developed zone in the center of a cell
that has DNA molecule is called as:

1. Nucleolus of prokaryote
/Z./ Nucleoid of prokaryote
3. Nucleus of prokaryote

4. Nucleus of eukaryote

In a practical laboratory, a student while
observing the slide of tissue with the help of a
microscope, found a bunch of cylindrical
shaped cells having interconnections belong to
the category of:

1. Adipose tissue
/ Heart muscle
3. Smooth muscle

4. Skeletal muscle

TE HINHT B GeeAT B QW BN 8, TR
FIRFT PARY T S sfER HIRTST e |
g AR UraTHT B AR W AER | "R
P TG UIETHI BT Hel HA T &

1. El—URIT qUT 9T

2. Rf—URITR qT SE—uURTR

3. ORI 9T AEF-URITH

4. ORI AT ORIHY

GRIERYT B T # 89 9t faRor @

1. @9 fae wregm @ 9o fAege 9w 4
THS o fawRor

2. o e argm @ a9 forgs angw A
THe o faaRor

3. o faeae wram @ 9= Rows argw §
STl @1 faaxer

4. 9 Reg g9 9 of faews e 4§
S @1 faaRor -

TP QE THR P! BRG] & darg &85 o
# HAfe g BIar 2, 9gd $9 WK Bl
2| 99 &5 &1 9 &

1. WHRATE agdr sferer

2. MHRAE o™

3. MoRAE dga

4. THRAE Bud

TN H gerred | Sad 3 WS wIgS
aEd g7 Uo faemft 4 Sae @ fr=fafed
ol B @ — Had fferex T HIRTHRI
B TP dsd fe@ w8 O F & o SRR
TS R ¥ S R 2 < ot | 78 o7 e
TPR B HAD D § -

1. TR3ATR Has
2. PISH 9o SHasd
3. d@ounell Has
4. FHPrel U



Pteridophyte plants can be better described as:

1. Non vascular, non seed producing

2. Vascular, non seed producing

3. Vascular seed producing
/Nonvascular seed producing R

J

O

'R

If a potted plant and a dish containing
potassium hydroxide are covered by a sealed
container made up of glass are kept in sunlight
for a week, what will happen:

1. Plant will grow taller
/Leaf turn yellow due to no photosynthesis

3. Leaf turn green due to excess
photosynthesis

4. Leaf turn yellow due to no oxygen in the jar

Rings of cartilage are present in the throat

1. To keep the throat erect

2. To produce the voice

3. To prevent the air passage from infection
/4_/ To prevent air passage from collapse

The process of excretion involves a sequential
arrangement of following organs:

i. Urinary bladder
ii. Kidney
iii. Ureter
v. Urethra

1. i, i, i, iv

it

ii, i, iii, iv

3. i, v, iii, i
7, i, v

The part of brain concerned with the precise
voluntary muscle coordination is:

1. Cerebrum
/f:erebellum

3. Pons

4. Medulla oblongata

cRewEer T &1 J8aR ARG BR

g 2

1. Ueref a8 Sad U4 41 g4 B &Har
PT A BT

2. el Hagd &de &1 BT U9 & g9
@ GHAT BT A BT

3. Ugqrf Hagd Hdd Ud 9IS g9 Y &Har
B BT

4. Ugrf HaEd Sdd &1 7 BT UG 4 991
DI SHAT BT BT

IR UH TH H o U gur us fIer A

e BRSNS @ Ud daoiR § e

RS YIS DI A H UH FWE qF @T

g

1. O F SHAE 9g e

2. WS HIANY AT 8 @I qole W gfadl
BT Yrell g1

3. AP GYONUT & IAf¥E BW H duiE |
gferal HT TERT BT BT ST

4. NEASE & AT B9 DI guie 9 ufadt B
drer g

AT IRR & T&ara-ell & 98] SUTRer gerd

P HH B -

1. TATET! BT W G T

2. iy Iqud BT

3. A B AHHOT H I

4. @ ¥ 9y ARt fAufia @9 @ g3

AFg H I dF WOl @ IR I

fReeRl &1 9 B9 &

i. AR

1. i, iii, i, iv
2. i, i, iii, iv
3. i, iv, i,
4. i, iii, i, iv
ARasp &1 O B 91 e & o @ 997
q 3o At S A gen ar R ges
9T BIAT &
THRash
FTARTSD

ure
. ger

aw N s



10.

11.

12.

13.

X

Sex determination in humans is due to the 10.

presence of:
1. Presence of X-chromosome in female
Presence of only Y-chromosome in male

Formation of t\&o types of eggs by female
j/Formation of two types of sperms by male

The arm of humans, leg of horse, leg of a lizard
and wing of birds are linked to each other
because:

1. Structures having similar development but
different functions

2. Structures having similar function but
different development

3. Structures having similar development and
similar functions

7 Structures having different development
and different functions

In one experiment showing Mendelian
inheritance, a tall pea plant with purple
flowers was crossed with short pea plant with
white flower. All the progeny in the next
generation was seen to have purple flowers
but half of them were short. What will be the
geneti¢ makeup of tall parent:
%

TTPP

&

2. TtPP
3. TTpp
4. TtPp [

A solid cube of silver has a mass of 84 g. What

is the resistance between the opposite faces. 13.

Given that density of silver is 10.5 g/cm3 and
resistivity is 1.6x10%Qcm. 0. 0L m M

1. 0.4x10%Q I

\

/z./ 0.8 x 10%Q
3. 0.4x10%Q
4. 0.8x10%Q

\SEE L

12.

A9l # i 9g BT 7 HROT B
1. HIET ¥ T (X) YORLH BT BT
2. GON # dddl d15 (Y) TOREA B &I
3. #el ¥ < ypR & 9 &1 7
4. TR H I PR & WH BT g1

fr=foRad o & @ faerig gamFar 2
gl & WX

1. 3 =@ amureyg WeEEr e 8 W
H fir=

2. T S B A/REET U B W R
T e

3. 3 foTa URYT WYEHT Ud B HREAT
% Bl

4. ST RITD! SRR FAT TG B WA
= &

iSd ® TS AERiear ddfdel W
IERTACY & Ui R TP FANT F o9 D
ST (P) weAl ATl @ (T) U BT HHE (p)

Hel gl 99 @) 9 | @ fear T ar
ST S G b U T Gl O W I

Il & P SN U9 A 84 UTH P SFAM BIal

| fodig @i & 9 ufeRw @@ 2 UE
<@ g0 f& 9 @ g9 10.5 T /B 3
2 3R ufeRluear 1.6 x 10%Q 3 2|

1. 0.4x10°Q

mg

2. 0.8x10%Q
3. 04x10%Q
4, 0.8x10%Q



14.

15.

16.

Farsighted people, who have lost their
spectacles, can still read a book by looking
through a small (3- 4 mm) hole in a sheet of a
panel because

1. Because the fine hole produces an image
of the letters at a longer distance.

2. Because in doing so, the distance of the
bject is increased.
Because in doing so, the focal length of the
eye lens is effectively decreased.

4. Because in doing so, the focal length of the
eye-lens is effectively increased.

The equivalent resistance of network of three
2Q) resistors can not be

1. 0.67 v v fz N
/ 20 RE,
3. 30 o N

W

4. 6QQ ~

The displacement of body as a function of time
is shown in figure. The figure indicates that

Displacement

34 Time

=
N —t—

1. The body starts with a certain velocity, but
the motion is retarded and finally the body
stops.

2. The velocity of the body is constant
throughout

/3ﬁhe acceleration of the body is constant
throughout

4. The body starts with a constant velocity,
the body moves with another constant
velocity.

14.

15.

16.

= @t @1 99 @ TOR PEHeR g 3R
o= e Twmr @ f2an, anfl f e B
¥ (3—4 ) BT @ @R T TKE TS
qHd & GO i o gt e # i

1. IWT BT ddl I W &R I (& B
I~ Bl 2| ’

2. U & H, I%g B A 9g I B

3. U1 &7 H, @l @ o g Pl Bidd ddrs
AT W0 9 BH & AT 2

4. Ul B3 H, @l B o9 B BIPA o9rs
THTEr 2T 3 93T 2|

9 20 vfeRI®l & e @ TXER ufaRY
8l & Hoar g |

1. 0.67
2..2Q
3. 30
4. 6Q

I P PR B U H I BT AR AEHS
# @ T & | st 3T #war & 5

Displacement

g
Wﬁwﬁv$wm%|



17.

18.

19.

20.

A bird is in a wire cage hanging from a spring
balance. The reading of the balance is taken
when the bird is flying about in the cage, and
when the bird is at rest in the cage. The first
reading will be

1. Much greater than the second

2. Greater than the second

3. _Less than the second

/d./Same as the second

A concave mirror is placed on a table with its
pole touching the bable. The mirror is rotated
about its principal axis in clockwise direction.
The image of a person looking straight into it

1. Rotates in clockwise direction
/2./:10tates in anti-clockwise direction

3. Isinverted

4. Does not rotate

A man standing in a swimming pool looks at a
stone lying at the bottom. The depth of the
swimming pool is h. At what distance from the
surface of water is the image of the stone
formed ? Take p as refractive index of water .

1 h in

]

2. ph Vt
s
=
h

“Metal dishes” (Dish Antennas) are used for
receiving TV signals from distant communication
satellites. These ‘Metal Dishes’ are

ﬁonvex Reflectors
2. both convex and concave reflectors

})éoncave reflector

4. Convex refractors

N R 7 )

[V

17. TP UEf T Wged ¥ dedhd ar o # 8|

18.

19.

20.

o9 weft fioR # 93 @1 2, 3R o9 el fioR
# 3TRM IR YT & O Ager @F A forar e
2| UBST AT BRI

1. R | BT ST

. TR P g A e e
TR A

TR B G

o oN

#u A
1. h
2. ph
5 A
H
2 2
h

g for (e de) &1 T R wAR
TuUE 9 4. e vy e @ forg faar
ST 8| 9% “arg fur @ 2

1. I9d Wadd

2. T SO U4 Fqdd WRIaTd
3. Iaad IREdd

4. A IUTAD



21,

22.

23.

Linear magnification (m) Produced by a rear
view mirror fitted in vehicles

1. Is equal to one
2. s infinity
3. Is more than one

/Is less than one

Which of the following ray diagrams, show the

correct refraction of ray of light 5

If a symmetrical convex lens of focal length ‘f’
is cut into two parts along the principal axis as
shows in the figure, the focal length of each
part will be

f/2
2. f/4
3. f
4, ®

21.

22.

23.

qrEql # o gvEeE (rear view) TUUT ERT
SO~ fhar T TRa Y& e (m)

1. 1 Brar 2|

2. 3Fd gar 2|

3. 19 ¥ B 2|

4. 19 B9 BT 2|

BIHH W P ATl UH AT ST o DI
o # 9 IgER a1 wrl § g o
31 fen % @1 faar Sran 2 gdS 91T B
BIHd W BN

TAYA
\/

f/2
f/a



24. Which statement is true for an eye donor 24.

i,” Eye donor can belong to any age group or
gender

ii,” People who use spectacles can not donate
4

/ eye

iii.” Eye must be removed within 4-6 hours
» after death

iv. Eye removal process takes only 10-15
minutes

/x./ i, i, i
2. i, iii, iv
3. i, ii, iv

4. i, iii, iv

25. Electric bulb B; (100W — 250V) and electric 25.

bulb B; (100 W — 200V) are connected across
source of 250 v as shown in figure what is the Vv
o potential drop across electric bulb B,? \

V0 w»

A # C_'
(\’/
Y % S ¥
K_ ~ TR B1 B2 jf/
I\ N /V U\
1% 250V f
200V -3, RN
Q $
2. 250V 5N WV
3. 98V '"&/’y I\
4, 48V
26. A beam of alpha particles moving towards east 26.

is deflected towards south by magnetic field.
The direction of magnetic field is

1. towards south
towards east

}-/downward

upward

27. What is the formula for ferric Oxide? 27.
1. FeO
Fe; Os
3. Fe30, Lo O
4. Fe:0 |

9 T B aral Jfed @ fow e A 9

PET AT T B

i T TE B dren Afed fhd ff g 9
a1 foftr &1 8 | 2

ii. o afed @9d &1 TANT BRg 8, 98 A
T T8l BR Fhd

iii. AT DI GG B 4—6 U B HR A
T SrcuETTs 2

iv. 73 Aerem @) ufha § 10—15 @Afve &1
9T o ©

i, i, iii

i, iii, iv

w N =

i, ii, iv
4, i, iii, iv
fagld 9ed B, (100w -250v) 3R fIggd sea
B, (100W —200V) &Y 250V & &9 WX e
# U R el T &, fiea 9@ W

fopa fvaua= grm?
B1 B2
' 250V
1. 200V
2. 250V
3. 98V
4. 48V
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28. In the presence of concentrated H,SO; acetic
acid reacts with ethyl alcohol to produce
1. Aldehyde
2. Carboxylic Acid
3. Sulphur Dioxide

/ Ester

29. Which of the following is also known as
laughing gas?

1. Methyl isocyanate
2. Sulphur Dioxide

7 Nitrous Oxide
4. Methyl phosphate

30. Theion of an element has 3 positive charge, 27
mass number and 14 neutrons. Find the
number of electrons in this ion. ot 3

/1/53 Al
7 10
3. 14
4. 16

31. Which of the following is responsible for the
blackening of silver jewellery on prolonged

exposure to air? fa, 7
1. AgsN ’
2. Ag.0

3. Ag:Sand AgsN

A7 AgsS

32. A metal is strongly heated in the presence of
air to, form a black mass. The metal is ...........

7 Copper
2. Potassium
3. Silver
4. Zinc

33.  Which of these shows Tyndall effect?
1. Common Salt Solution

2. lLemon Juice
- Milk

4. Copper Sulphate Solution

(] E\/\ + Cl

| {0® g =
%}

28.

29.

30.

31.

32.

33.

Wig H.50, & SuRefy & wiifes ara, ufdre
I~ BT B

1. gfessgs

2. FEifRafos 3w

3. HoBX SI3IITHIES

4, TEX

=1 § 9§ 59 <ife, A f wer omar 87
fRermget amgETEAT

HorY SSiieargs

RIETAUCIE R ES

s wiewe

W Np o

5t a@ @ s ¥ 3 g omaAw, 27
TR HET U4 14 e 8| A A
TS & HE T PG|

1. 13
2. 10

3. 14

4. 16

T F WY IS 9 9@ 6Ue § W D

2. Ag.0
3. Ag:SandAg:N
4. AgS

31 arg @ IuRefy ¥ e am
fFT 9 W U Hrem a8y g7ar 2|

i 5

i

# oS g94
1534

i

s # & @7 feved wwg &Y Twifar &7
AR THE fera=

. g BT ™
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PR Fowe fFera=
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34,

35.

36.

37.

38.

39.

Which substance is chemically resistant and 34.
can hold aqua regia?
1. Ceramics
Glass
3. Plastic H
4. Fibre
What mass of Oxygen is required to react 35.
completely with 15g of Hydrogen gas to form
water?
— 20
120g QA ‘O
2. 107.5g ﬂ‘\ % Sy
3. 132.5g T e g e
= \E = v “ b
a. 112g B o A
On which of the following substances will you 'ée,

pour Hydrochloric acid if you wish to prepare
carbon dioxide gas in laboratory?
1. Zinc particles (o O c
2. Copper sulphate partlcle
N
;./Pleces of marbles -

4. Ammonium chloride.

Solder is an alloy of

37.

1. Copper and Mercury

2. Copper and lead

3. Lead and Mercury
Lead and Tin

hat is the formula of Propanal?

CH3CH,CHO 38.

. CH3CH2CH:CHO
3. CH3COCH;
4. CHsCH.CO CH.

Shweta went for a journey by train in June

2018. Her train was to depart at 7 am. Her 39.

mother packed ‘Bread Pakedas’ For her lunch.
However Shweta did not eat them till evening.
In the evening when she opened her lunch box,
she felt an unpleasant smell. The taste of
Pakodas was also sour. This happened due
to

1. Thermal Decomposition
2. Calcinations

3. merism
- Rancidity

DI T ggTel e GRS 8 T sreRTS
(qaar fom) @7 AP Fhar 87

1. Rfaaw
2. B

3. wRT®
4. TIEER

I §9H @ fog 15 T BIESIGE N @ 91y
T IRE W AR FH @ oy sifeioE @
= W @1 ETIHaT el 87

1. 120 O
2. 1075 UM
3. 1325 UM
4. 112 TH
=1 9 9 eyt WR Y EE SN Ak

St afe M wEnTImenr W Hred
TS I IO~ BT I8d 27

1. O P B

2. PR GBS B HIT
3. WITHHR & hs
4. AW FERSS

1. CHs;CH,CHO

2. CHsCH,CH,CHO

3. CHiCOCH,

4. CHsCH,CO CH;

S 2018 # wOAT $9 §RT U& IqMEAT

IHD! ¢4 YT 7 91 91 B oY | SHS
A dg @ forg SHPT s T U R
WY AT WM TP N I= @1 e U |
P 9§ IH9 A9 dred Wie o S9H J
arr @ off | g Bl & g § ff "wew
D B BT BRI AT |

e e

s

FHEIT

IEESRIERI

c

ﬂ%ﬁ!@

=

W
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40. Which of the following elements will be in ™~ 40. =1 % ¥ 19 I I9 nad wrolt & Aored

Group 16 of Periodic table? qu ¥ B8RI?
Symbol Atomic Number RS Yedl  GRHATY] HHiD
Te 52 . Te 52
Re 75 Re 75
Se 34 - Se 34
Xen 54 Xe 54
1. .Teand Xe 1. TeandXe
//_/Se and Te 2. SeandTe
3. Reand Se 3. ReandSe
4. TeandRe 4. TeandRe

41. Who wrote the ‘Two Treatises of 41. T FIREW A6 e fhw A forar?

Government’? 1. S AT wE
1. Jean Jacques Rousseau 2. G dfe
/John locke 3 #f
: ’MontESQUiEU 4. ?3—5‘ XVI
4. Louis XVI
®
42. Louis Blanc wanted to encourage cooperatives 2. I 35‘”_‘5 Yofrarel St a”ﬁ SRS B
and replace capital enterprises, Name the JgEl P grEl o A'd o | g br way
country to which he belong? fra <o & ar?
1. Russia 1. w49
2. Germany 2. S
I/I;rance 3. Wig
4. ltaly ¢ 4. ZTo
43. Name the economist who had once advised 43, SH RSN FT TH q@0 RET 1@ TR
Hitler against, in vesting in rearmament ;EG'Q aﬁa;?m @'ﬁ_\';@g@ W urer YT |
8 stor Niemoeller E Rl !
. Hjalmar Schacht L
3. Ernst Hiemer & IEURTER RERC
4. ErnaKranz 3. T év R
4. URAT b=

44, IS ERT ARG H 99Y g a9 HEIHey®

44. Who was the first Inspector General of Forests

appointed by the British in India? gl ?ﬁ g far mar
1. George Yule 1. St ga
2. Verrier Elwin 2. IR wfeas
. Dietrich Brandis 3. SEfga ifew
4. H.S. Gibson 4. Ty, firsgqa

10



45.

46.

47.

48.

49.

50.

‘Chapkan’ means
)}A, long buttoned coat
2. atype of turban

3. awestern three piece suit
4. phenta (hat)

Who introduced opium into china in the early
sixteenth century?

1. Britishers
2. Japanese
3. Russians

¢ Portuguese

Who was the Austrian Chancellor when
Congress of Vienna (1815) was held?

1. Giuseppe Mazzini
Duke Metternich

3. Giuseppe Garibaldi

4. Otto Von Bismarck

Name the two imperialist, countries against,
which the nationalist Vietnamese fought?

“1. France and Britain
2. Britain and Japan
7 Japan and France
4. France and Germany

Who Formed the Swaraj Party?
1. Jawahar lal Nehru and Mahatma Gandhi

2. Jawaharlal Nehru and Subhash Chandra
Bose

3. Jawaharlal Nehru and Motilal Nehru

/Motilal Nehru and C.R. Dass

Which two new colonial powers joined
European powers in the process of carving up
of Africa between themselves at, Berlin in
18857 N

. Britain and France L™
2. Iltaly and France
3. Belgium and Germany

4. Britain and Italy

45.

48.

49,

50.

11

IqUHd | 91T B
9cASR @dl BT
T TWE B TS
TRad -0 g
BT (2e)

-l

I H qHH P YHATT AlerEdl Al b
uiRd # fbg F 31 ofi?

KEIN]
.o
. germferat

1815 @1 =T W & T7g iRear & IR
P A?

AN VI

1. Sgadr Afea

2. Sg& Hexf

3. gAY RNdfes

4. 3fer 9 e

99 IV GESEA < @ A §a¢ B $
fvg fRuaard Tsgard a9 |

1. Wi 3R faee

2. f3ed &k s

3. OO 3R Wi

4. Wi 3R AT

RIS 9Tel &1 e o 7 far?

1. SATER AT 8w AR HETEAr el

2. SATER offel "8% 3R gIIY =% 9%
3. TR el olgw iR Axft ot AEw
4. Al AT A6 IR WIR. g™

9 DI A a1 78 itufrafre wfdaar off, s=F
1885 # qfelT # |WU & I TAHAIR W B
| e e B bR Wi B MIH
¥ qgreq & ferg e ferar?

1. 329 iRk wiw
2. gTol 3R wiH
3. dfesr 3ik AT
4. f829 3R seenr



51

What, does Proto-industrialisation mean?

;yfirst, and early form of industrialisation

52.

53.

54,

“Industrialisation after 1800 C.E.
3. Industrialisation after 1900 C.E.
4, Industrialisation after 2000 C.E.

Who among the following authored ‘Godan’?
1. Rabindranath Tagore
7 Prem Chand
3. Bankim Chandra
4. Srinivas Das

In which country women do not have the right
to vote.

1. Estonia
7 Saudi

3. Fiji

4. Mexico

The name of the autobiography written by
Nelson Mandela is

1. Robben Island
2. The long walk to Freedom
3. Blacks

}Aparthied

55.

56.

Who appoints the judges of the Supreme Court
and the High Court.

1. The President
2. The Prime Minister
3. The Chief Justice of the Supreme Court

<~ The president on the advice of the Prime
Minister ad is consultation with the Chief
Justice of the Supreme Court

Kosovo was a province of before its

split

1. Vietnam
2. Zimbabwe
3. Srilanka

/}/ Yugoslavia

52.

53.

55.

56.

12

anfe—amemfiexr § e 8-

ggell a1 URfAe sierfieRor & Ruafy
1800 3. @ 915 @1 refrawor

1900 5. & 91§ &1 frerfiHRor
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57. Which language was recognised as the official
language after independence in Sri Lanka?

1. Tamil
2. Hindi
/S-Iinhali
4. Telgu

58. Which country does not have federal system?

1. Belgium
2. India
7" Myanmar

4. The United States of America

59. The
1. Union Government

legislates on residuary subjects

2. State Government
3. Local Government

/4./ President

60. Which on of the following regional parties is
associated with West Bengal?

1. Lok Jan Shakti Party
)./Janata Dal

3. Forward Bloc

4. Democratic Front

61. Which of the following statement is true
ﬂlnino is a Greek word meaning the child

2. Presence of the EIn Nino leads to decrease
in Sea —surfer temperatures

3. El Nino is a name given to the periodic
development of warm ocean current along
the coast of Peru

4. | TCZis a broad trough of high pressure in
equatorial latitudes

62. Maldives Island are situated to the of
Lakshdweep Island

<~ South
2. North
3. East
4, West

57.

58.

59.

60.

61.

62.

13

34 ¥ 59 3w 9Hy waven 98 uig o’
fesram

CIEG]
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YA W IR

=W N -

Y AV W S 79 FT1 d¥eR 5
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T AXBR

I INHR

WY AEHR
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9 A IF W &Y T u¥ed §Wme @
g 87

1. &P o9 wfdd g
2. AT ]A

3. BRdS =A®d

4. THIBRS He

P N =

frfafag § § ®19 91 $ouF 98 &
1. Tt W e & foraepr aef & g=am|

2. Qe @ SuRUfT @ ws @ 9ag @
aoHE § &4 e 8

3. 39 9% Oid URT @ WH W e dk
W TH JAURT @ ABT B TaA-IE BT
am fear T 2

4. 39 991 sfedd & Ryada siemt
favge 719 va 3= q19 FT &7 g 2|

HIIEY 19 TR FE ... 3R Rerg &
1. &f&or
2. IR

3. qd
4. qf¥am



63.

64.

65.

Which of the following not a nuclear power
station.

/Kaiga

2. r\g_arora
3. Korba .~
4. Kakrapar\”

What causes rainfall on the coastal areas of
TamilL.Nadu in the beginning of winters
Ath West monsoon
Temperate cyclones

North East monsoon
Local Air circulation

Which of the following two extreme locations
are connecting the east west corridor

1. Munbai and Nagur

2. Ahmdabad and Kolkatta
Silchar and Porbandar

4. Nagpur and Siliguri

66. Match list 2 (River) and list 2 (Dam) and select

67.

the correct answer using the code given below

List 1 (River) | List 2 (Dam)
A. Narmada i. Hirakud
B. Kaveri ii. Indira sagar Dam
C. Bhigirathi | iii. Mettur
D. Mahanadi ‘| iv. Tehri
1. A(i) B(iii) Cf(iv) D (i)
7 Aliv) B(iii) C(ii) D{i
3. Alii) B{(ii) Cf(iv) DI

4. Aliv) B(ii) C(i) D i)

The Red soil develop a reddish colour due to
1. Deforestation and over grazing

2. The presence of Potash and magnesium

< Diffusion of <ron in Crystalline and

metamorphic rocks
4. Formation from the lave flows

63.

65.

66.

67.

fAfofad 4 | o9 w1 Jaeiige i ®eeH
T8 2|

qfierrg @ a8 il # T kg B uRT |
99f 89 T T HROT 2 |

1. <féor uf¥efl A

2. AT aghard

3. IR & AgA
4. WY 91 §9R

1 # & 39 4 1 v Red we gdt
af¥edl mferamr ¥ 9 8

1. Ha3 3R AR

2. JEHAGEIG AR Bladdl

3. fyeer iR URE=x

4. YR AR FEfRLS!

R 1 () @ A 2 (@) @ W
Aergy ol faT U @I &1 W S ge

TE IR BT FTF PIFTT |
arferar (7)) aferaT (aT)
A THT i. fexrgs
B BT ii. SfaxT WR 1™
C wifiReft i, 7
D HETal iv. SrEel
1. A(i) B{(ii) C(iv) D (ii)
2. Af(iv) Bfiii) C{(ii) D{i)
3. A(ii) B{iii) C{(iv) D{i)
4. A(iv) B(i) cC(i) D (i)

Tl FT BT ¥ A fhg HROT qa1 87

1. g9 @ herg AR Afdagurer

2. #Arere R HFARaH g9 & FRO

3. SR MY AR wuidd geeH ¥ A
g1 P TR B BRI

4, dETSES A D § D BRI



68.

69.

70.

1

72.

73;

The longitudinal extent of India is.
1. 69°7’Eto97°25'E
2. 68°7'Eto98°25'E
68°7°E to 97925’ E
4. 68°7't099%25'E

The is a longitudinal position of a place
where the local time 12 Noon when it is 7:30
pm at Greenwhich.

1. 113.5°W
2 112.5°E
3. 112.5°W
4. 113.5°E

Nokrek Bio Reserve is situated in state

of India.

1. Assam

2. West Bengal
Meghalaya

4. Sikkim

Boundaries of which of the states does not
touch Myanmar?

1. Mizoram

2. Meghalaya
Manipur

4. Nagaland

Arrange these hills from west to east
A. Khasi
B. Garo
C. Naga
D. Jaintia

/ABD

D,B,AC
B,C,D

)%ADC

National consumer day is celebrated on
1. 24" March
24™ December

}3/ 24" September
4.

24™ November

68.

69.

70.

71.

12

73.

15

AR &1 SGaRy R @ 87

69°7E to 97° 25’ E

68°7' E to 98°25'F

68°7’E to 97°25' E

68°7’ to 99°25' E

U@ 9TE R &1 I 99 SUER @ 12:00
pm%ﬁﬁﬁ?ﬁﬁﬁmri’,o pm%,g‘\‘:f
TRTE @ qu=g Rerdfy  @nfrg
113.5°W

112.5°F

112.5°W

113.5°F

AW NR

>N e

NI

frafaRaa # 9 5w = & dmr =ER 9
e} e ¥
ISR
Ay
FIR
BIRIGS
1 UEedl @ uRem d 9@ A %
HHIG PN
A. GTET
B. TR
C. 91T
D. Saforn
1.C,A,B,D
2.D,B,A,C
3.A,B,C,D
4.B,A,D,C
TS IUNTET fRas
1. 24 HTE
2. 24 fegaR

3. 24 fydex
4. 24 FqR

L np =

BT AT AT # |



74.

75.

76.

77.

78.

79:

Money in hand is an example of
1. Human capital
/ Fixed capital
3. Working capital
4. Physical capital

Non market activity is
1. Selling the product near by temple

Selling the products through the regulated

< market
3. Producing for self consumption
4. State of unemployment

Calculate the female literacy rate from the
given data
Gender | Total Person | Literate Person A’L_.\
Males 1200 1050
Females | 580 360
Total 1780 1410

A [ o
tam LM

G £

3. 25.8% g ﬂ%(*
4. 20.22%

The Quality of Education in a country does not
depend upon

1. Literacy Rate
2. Growth Rate
3. Health Status

/Acquisition of skills by people

Which one of the following agency issue one
rupee currency note in India

Reserve bank of India
2. Ministry of Finance
3. Commerce Ministry
4. Commercial Bank

In which year the first five year plan started
1. 1947
2. 1951

1948

,4/ﬁ1950

74.
75.
o\
M
266
3-/75_
1 %
77.
78.
79.
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R IR fFamam f=fofeag & ¥ 59
PEd B

1. TeN & Hfex ¥ Saurel @S9

2. 3T I9Rl @ Araw | SR B 9947
3. WITHNT @ forg e &

4. SRR o Rerfa

frfoRea aroft @ #feen weRar &)
TOET B |

forr | @a afem | R afw
&Y | 1200 1050
AfZa | 580 360
FA | 1780 1410
1. 62.0%
2. 28.6%
3. 25.8%
4. 20.22%

fdl <o & Ren & quEe e ) R
el Bl

1. HIENRAT &X

2. faemy =

3. ETRRR 3faReT

4. QT ERT DA BT ARRET

frefafed & 9 @19 A okl 6 wD A
H&T A R B

1. 9RAg Roxa §@

2. fag #=me™

3. I HATEd

4. TfoIg §%

R H geadia A 6 a9 I g
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IRER R dEral sedar ufdesy &7 gem @l

80. Removing barriers or restriction set by the 80.
governmentiscalled L HET SIdl 2 |
/ﬁ.iberalization 1. SENIHRT
2. Investment 2. faaw
3. Favorable trade 3. 3Ihd AUR
4. Free trade 4. H{E& AUR
81. Solve. 81. T BT
1+SinA 1-SinA . 1+SinA 1-SinA
= +\/ : =2y Meadn® ‘_;:__'\"’J‘_,, : +\/ =7
1-SinA 1+SinA “ =Y 1-SinA 1+SinA
[N N <
1. Cos2A 1. Cos2A
/ 2 SecA 2. 2SecA
3. 2tanA 3. 2tanA
4. 2SinA 4. 2SinA
1 12 1 a , ol 1
82. + = T 22. 412 1
2(3x+4y) 7(4x-3y) 2 qe ¥lb =L 2(3x+4y) 7(4x=3y) 2
}
) db - =
7 & 4 _ = tET# 7 " 4 _
(3x+4y) (4x-3y) b l}% (3x+4y) (4x—3y)
*
Find the values of x and y o B o x3R y® AF A BIY AR 3x+4y 20,
T rT e
if3x+4y #0,4x-3y#0 b=y R B 4x—3y¢0%I
g\-!
444 16 4= Rx+6y 444 16
ST R T ¥ 323ty 13" “ 257 25
25 25 ¢~ Lﬂl"‘b‘a > {,1-
2.x=0,y=1 o 6= %i"} 2.x=0,y=1
L 16 256 "9{”/;;5 " 16 256
AN = RSy 25" ' 25
LL'/"'\ \'tfl
4.x=2,y=2 5 A x=2,y=2
“k’— VW&
SN
83. A gardener wants to grow some plants in a 83. Udh H'I?ﬁ T H B33 UIe ST ATEar § |_ gy
garden. If 4 plants are grown extra in each row, ys e H 4 9 sfdRew sy Wl o
the number of rows will reduce by 2. If 4 plants tﬁ’ﬁa‘r B G 2 FH Bl iﬂTQ"ﬁl '&ﬁ D
are grown less in each row, the number of }(\l\ g § 4 o &8 ST WY, o Sl @

rows increases by 4. Find the total number of

T 4 AfSd B ST | MY MY FA dEi

plants grown. *‘Zﬂ ‘ \%j\\k \aiﬁ H&T S H |
1. 90 A = 21090
) 100 AN Ny
J . \\\Km o 2. 100
3,108 * | X 3. 108
Yl

a. 9% R 4 9

s\\_ ’LVB ; oL % 17 W\
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PSS
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84. The sum of all sides of a cube is 9cm. The
volume of the cube is

1. —cm?®
2 ﬁcm3
108
27,
facm .
o a L% J}
4. —cm Lz ¥ 5,% e
32 -~ 3 5 +7 - ’f’ lm
\3 e X 9/_
%
85. Ifxy=3:5andx:2=5:7, E en what is (y-z) : '
? 4. > 2 ‘
(y+z) equal to? AT o ‘7\/#
2/23 1 g2 4
2. 27/46 oo RN 4
- . SD )f
3. 18/46 B4R e
4. 15/46 2\

86. Find the Value of m-n in the rectangle PQRS.

87.

represent lines which are
1. intersecting at (n,m)
2. coincident

3. parallel

‘L intersecting at (m,n)

88. Ifx=1+cosA,y=cosec’A, z=1 — cosA, then
the value of (xy) z is

1. CosecA
/2/ 1

1 - Cosec’A
4. Cos’A

(1- Lot g) [ce&L&l@\

18

wmaﬁwmmwgﬁlﬁ g1 o
BT AT B

Ifg xy=3:5 3R x:2=5:7, 8, @ (y-2) =iV+2)
frad aRTe} B1IT?

1. 2773
2. 27/46
3. 18/46
4. 15/46

86. 3T PQRS H BT m-n A ST @I |

e\l
\\1\.\

3
62 \.@?’
(e

1
2
3 =1
4

Rad FHHROT A x=m T T y=n iy
freaor 9 Y@y € S o

(n,m) ®R yfd=ee H=at £

2. Ul ¥/

3. HHiaR T

4. (m,n) W) gfo=8T & B

—

Ife x=1+cosA, y = cosec?A, =1 — cosA, &,
am (xy) BT AT B

1. CosecA

1

1 - Cosec?A

Cos?A

oW



89.

90.

91.

92,

% /éf’ W[;i‘—k]

o k=593
89.

The mode of the given series is 36. Find the
value of K.

Class 0- | 10- | 20- | 30- | 40- | 50- | 60-
interval 10 (20 (30 |40 |5 |60 |70

Frequency | 7 6 K 16 12 |8 10

/ 10
2. 15
3. 20
4. 30

fx+y+2=0andx=0,y=#0, Z#0, then find
2 2 2

the value of L+L+Z—

yz xz xy

&j”h }JVZflf

Sreg
21§

v, The
N = O

%

What will be the area of the largest triangle
that can be inscribed in a semicircle of radius

r

‘1‘_'6’ .
1. 16712

2 q
2,
64
r?

32

rZ

256

From a face of a cubical wooden block, a
hemispherical depression is cut out in such a
way that the diameter of hemisphere is half
the edge of the cube.

What will be the surface area of remaining

solid?

(P +4) 2\
2

2. 64

1.

1
3. —F(n+24)
4

1, At
iz oF(n+96) o R':'ﬂ\/

[“Mr

90.

- P
Z (¥ e

92.

;£4Q¥

1

K. dAk=2e

G
41 S gl BT dgD 36°% | K DT A T
ST |

Class 0- 10- | 20- | 30- | 40- | 50- | 60-
interval 10 | 20 30 40 50 60 70
K

16 12 | 8 10

Frequency | 7 6

=LY

10
15
20
30

LN

T x+y+2=0%8 3R x=0,y=0,Z20, Al

2 2 2

XY L2 o 9F 9| SR
YZ Xz Xy

1. 0

2. 1

3. 2

4. 3

B @ o sefw @ sifa @
HH4 a0l He9 98 B @1 8% g

1. 1612
5 &
64
2
3, i
32
2
4., —
256

UH THR &ld & Ud Bold Pl I Pl
AR W BIE N (@ U SENATHR A1 39
UHR BT T & b aehiel o9 & fFar &1
T B AY g9 O B TRV SFBA S
DI |

F(”* +4)
2
2. 641

3. £|2(ﬂ+24)
4

4. Lp(n+96)
16

D)

L& L
\ T
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(24
. LS

Mr‘- }%’5 % ((LG . )('11*’-’3)'5 f,2(1‘r'7CC‘
%
77 /209 . % x ‘
j 1 /ZOA 2] " %3_’_’,[6251‘1"!00
— 3.15% o +L 4+ = L
17 % e 2
s 4.30% =i P
‘ _),q Y Toe ==
94. If x+1 =5, then find the value of x’ ~+-~I—9
X X 94.
330690 @.,/—‘9%
= yec]("b
2.1310330 W o
o P
3.1330670 g\ . “)%1
4.1310370 |
V4 s 95
-/_ 95. If a natural number ‘@’ is dividedbby 7, the .
;'/ ' remainder is 5. If a natural number ‘b’ is divided
' by 7, the reminder is 3. The remainder is ’r; ifa+
b is divided by 7. Find the value of 3r4_+5 b
r A
;% 2 =325 3
: L=y ¥ 3
3.8 d x
s 1 S
4.11 e 3 "‘\hju_‘xf“!
" 2N
96. Rajat’s salary in 2017 is Rs. 1,77,100. His salary 96.
from 2014 has risen annually by 10, 15 and 40
per cent respectively to reach 2017 salary
figures. What was his salary in 2014?
1. Rs. 95,000
/ Rs. 1,15,000
3. Rs.1,20,000
4. Rs.1,00,000
97. In APQR, PXLQR. Find the value of PQ*+QR?- a7.
2QR.QX . g
3 : 2S5+ 61 - 67
Q. x ‘1 R _
/ PRZ - )
2. 2rQ?
3. Qr.Qx?
4. 2PR?+PQ?

t Per L 1 Vo } < T
- latoo [Rig I8 1= L
6 ( - ac+ | v et 28 w
%L-Lf‘}(ég—fezloo--’;g*-3/ 'I(}E/,‘—H‘
y "o ;(f, e X pve
93. Rahim sells apples to his customers at the cost 93.

price itself but uses a weight of 800g instead of
1kg weight. Find his profit %

20

7[&’:!'21 @‘O f};’?On
K # =SB,
1t o

REMH AU UTED! DI H Yo TR & AF d9ar
2R 1 5 & 92 & W9 W 800 UH B
g2 BT SUANT HIAT 8 | IHBT A gfrerd s
HI |

25%
20%
15%
30%

fe x+Llosar x9+;1??5T1~TFf o BT

X
1330690

1310330
1330670

. 1310370

Ife v wipfde & ‘@’ B 7 9 famifoa
far SITQ <1 vhe BT 5 If Ue wimfae
&b’ @1 7 | ffa far S ar dwwe
BN 3| a+b &1 7 9 fmifora & @ vwe

‘v YT B | i

1. 7
2. 2
3. 8
4. 1

B =

I

BT A4 ST BT |

2017 ¥ ToTd 6T I 1,77,100 o7 | 99 2014 &
IR Ia- ufe 9§ B 10,15 IR 40 wloera
dEHY 2017 $ 99 AP YLD TAT| I§ 2014 H
IqPT da fdar or?

1. Rs. 95,000

2. Rs.1,15,000 ¢
3. Rs. 1,20,000
4. Rs. 1,00,000

35T APQR ¥ PXLQR &1 PQ2+QR?- 2QR.QX
B HH =T BT |

P

PR?

2pPQ?
QRr.QX?
2PR? + PQ?

ot ot o

L2



98. The Points P(0,4), Q(-3,1) R(0,-2) and 5(3,1) are 98. ﬁg AR & MY &

the vertices of a 1. FHR agEe
1. Parallelogram 2 it
i Square 3. UOUHR AGHYS
3. Kite o 4 9 W
4. Rhombus 3
99. Oisthe centre of a circle and £xoy = 100°. Find 99. OUS g &l &= & 3R Lxoy=100° & | Lxzp
the measure of Zxzp &1 HIY ST BT |
>
X \ / ¥
¥ 4
P
1. 50°
2. 100°
3. 150°
4. 80° A
100. In trapezium PQRS, PQ}}RS and PQ = 2RS. If PR 100. HHld TS PQRS, #, PQL1RS 3R PQ = 2RS
and QS intersect at point O, what will be the afe PR 3R QS fdg 0 W ufdess &vd &, o
ratio of areas of APOQ and AROS? APOQ 3R AROS & &Fhal &1 UM &l
1 11 &T?
2. 2:1 1. 1
/a./ 4:1 z
5, X1 & 3. 41
4. 12

4. 12 S
_ﬁ\

W _,13333—- J o0

.
gR\l_r ?x’::‘:éRLV a + %1 :\"1'1 (X
. r5
M’L”?x B% TR A AO0
5 o580
=LY § 600

_..’—"(:{'——'__hx ‘O O‘/‘\ -)<d o /‘f a i/—]( ] OID-V/
X oo 6 sy
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